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Question Number : 1 Question Id : 6801915773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The packaging involves the complete sealing against the ingress of

gases and vapour,

1. hermetic
2. primary
3. controlled
4, modified

Options :

68019122601. 1
68019122602. 2
68019122603. 3

68019122604. 4

Question Number : 1 Question Id : 6801915773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Thi *

gcollegedunias

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019122601. 1
68019122602. 2
68019122603. 3

68019122604. 4

Question Number : 2 Question Id : 6801915774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The temperature difference between inside and outside should not exceed........... to
prevent the thermal shock in glass (package) manufacturing,

. 100 °C
200
4.9
4.85°C
Options :

L N

68019122605. 1
68019122606. 2
68019122607. 3

68019122608. 4

Question Number : 2 Question Id : 6801915774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options :

o b =

68019122605. 1
68019122606. 2
68019122607. 3

68019122608. 4

Question Number : 3 Question Id : 6801915775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of can 1s used for high acid foods?

1. L type

2. MS type
3. MR type
4. MC type

Options :

68019122609. 1
68019122610. 2
68019122611.3
68019122612. 4

Question Number : 3 Question Id : 6801915775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options :

68019122609. 1
68019122610. 2
68019122611.3

68019122612. 4

Question Number : 4 Question Id : 6801915776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The principal ingredient for curing of meat is

1. Potassium chloride
2. Sodium chloride
. Caleium chloride
4. Magnesium chloride

Taa

Options :

68019122613. 1
68019122614. 2
68019122615. 3

68019122616. 4

Question Number : 4 Question Id : 6801915776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options :

68019122613. 1
68019122614. 2
68019122615. 3

68019122616. 4

Question Number : 5 Question Id : 6801915777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The oxidised form of Oxymyoglobin 1s

1. Myoglobin

2. Metmyoglobin

. Cholemyoglobin
4. Ferrylmyoglobin

Taa

Options :

68019122617. 1
68019122618. 2
68019122619. 3

68019122620. 4

Question Number : 5 Question Id : 6801915777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options :

68019122617. 1
68019122618. 2
68019122619. 3

68019122620. 4

Question Number : 6 Question Id : 6801915778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Meat Source Meat type
A |Cattle I. |Veal
B. |Calves II. |Beef
C. |Hogs I11. |Game meat
D. [Wild Amimals | IV |Bacon

Choose the correct answer from the options given below:

- (A)-(I). (B)-(III). (C)-(ID). (D)-(IV)
- (A)-(IT). (B)-(III). (C)-(I). (D)-(IV)
. (A)-(IT). (B)-(I). (C)-(IV). (D)~(III)
- (A)-(IT). (B)-(IV). (C)-(I). (D)~(III)

e o I

Options :

68019122621. 1
68019122622. 2
68019122623.3

68019122624. 4

, , , gcollegedunias
Question Number : 6 Question Id : 6801915778 Question Type: MCQ



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

11 3R GEI-11 BT AR BT

I 11
A [#aEh 1 [d@
B. [sws IL. [7TE
c. [grg I1L. |71 1
D. [ShefoiFaR | 1V, [§@+
A feu e fosed B 9 981 S I |

L. (A)-(I). (B)-(IIT). (C)-(II). (D)-(IV)
2. (A)-(II). (B)-(III). (C)-(I). (D)-(IV)
3. (A)-(IT). (B)-(I). (C)~(IV). (D)-~(I1T)
4. (A)-(ID). (B)-(IV). (C)-(I). (D)-(III)

Options:

68019122621. 1

68019122622. 2

68019122623. 3

68019122624. 4

Question Number : 7 Question Id : 6801915779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Egg yolk contains the following protein fractions-

(A). Phosvitin

(B). Livetin

(C). Low density lipoprotein

(D). Ovomucin

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
3. (A). (B). (C) and (D).

4. (B). (C) and (D) only .
collegedunia:

Options :

~



68019122625. 1
68019122626. 2
68019122627. 3

68019122628. 4

Question Number : 7 Question Id : 6801915779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

318 B oidl § FfRad Ui & 3= gl ©-
(A) PIRafe
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(C) &l SRt ferdimidt=
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1. %ad (A), (B) AR (O
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3. (A). (B). (C) 3R (D)|

4.%ad (B). (C) 3R (D)

Options :

68019122625. 1
68019122626. 2
68019122627. 3

68019122628. 4

Question Number : 8 Question Id : 6801915780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The egg volk 1s anchored in the center by

. Vitelline membrane

1
2. Shell membrane
: Cl r.]. & 4
P gcollegedumas

3
4. Albuminous sac

~



Options :

68019122629. 1
68019122630. 2
68019122631.3
68019122632. 4

Question Number : 8 Question Id : 6801915780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S Fiodl A o GIDETERIN

1. f[aedi fereed!
2. T f3reeh

3. il

4, Uesg (3 Ol
Options :
68019122629. 1
68019122630. 2

68019122631. 3
68019122632. 4

Question Number : 9 Question Id : 6801915781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct order of production of egg powder is-

(A). Pasteurization

(B).Fermentation

(C).Drying

(D). Cooling

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
2. (B). (A). (C). (D) g -
4. (D). (C). (A). (B)

~



Options :

68019122633. 1
68019122634. 2
68019122635. 3
68019122636. 4

Question Number : 9 Question Id : 6801915781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
38T UT3 S & 315 B el Y ©-

(A) TIERTZSIRH
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(C) FgI-I

(D) Jfe

i feu U fae el o 9 gel 3w I

_(A). (B). (C). (D)
.(B). (A). (C). (D)
.(B). (C). (A). (D)
(D). (C). (A). (B)

I =

N

Options :

68019122633. 1
68019122634. 2
68019122635. 3

68019122636. 4

Question Number : 10 Question Id : 6801915782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The browning in egg powder can be prevented by

. glucose oxidase
. addition of gum acacia gcollegedunias

. denaturing the proteins
. addition of acid

e

~
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Options :

68019122637. 1
68019122638. 2
68019122639. 3
68019122640. 4

Question Number : 10 Question Id : 6801915782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST T3S d S8 &I GRT ] ol ol o |
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2. 719 3B IRET Sl

3. WIH &I fadd &A1

4. 3T SIAAT
Options :

68019122637. 1
68019122638. 2
68019122639. 3

68019122640. 4

Question Number : 11 Question Id : 6801915783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The naturally occuring toxicant in potatoes is

. solanine

. prussic acid

. haemagglutinins
4, gossypol

| R

L]

Options:

68019122641. 1 :
gcollegedumas

68019122642. 2 =



68019122643. 3
68019122644. 4

Question Number : 11 Question Id : 6801915783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

|

-

68019122641. 1
68019122642. 2
68019122643. 3

68019122644. 4

Question Number : 12 Question Id : 6801915784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Weight gain 1n rats upon the consumption of one gram of protein 1s known
as

1. Biological value

2. Protemn Efficiency Ratio
3. Net Protein Utilization
4. Net Protein Value

Options :
68019122645. 1
68019122646. 2

68019122647. 3
68019122648. 4 gcollegedumas

~



Question Number : 12 Question Id : 6801915784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019122645. 1
68019122646. 2
68019122647. 3
68019122648. 4

Question Number : 13 Question Id : 6801915785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Butter contains % of lactose.

b =

5
4. 10
Options :

L]
= D ) =

68019122649. 1
68019122650. 2
68019122651. 3

68019122652. 4

. . . . H . ( .
Question Number : 13 Question Id : 6801915785 Question Type : MC gcollegedunlas

Question Mandatory : No Calculator : None Response Time: N.AThi -



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ARaT | %% TIge ol aIdT & |

|
I =

5
4. 10
Options :

Taa
—_

68019122649. 1
68019122650. 2
68019122651. 3

68019122652. 4

Question Number : 14 Question Id : 6801915786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Type Percent solids
A |Fluid bread shortenings | 1. |70
B. |Frying shortenings I |20
C. |Puff paste fats III. |30
D. |Confectionery fats IV |20

Choose the correct answer from the options given below:

L. (A)-(I). (B)-(II). (C)-(III). (D)~(IV)
2. (A)-(ID). (B)-(IIL). (C)-(IV). (D)-(I)
- (A)-(I). (B)-(IT). (C)-(IV). (D)~(I1I)
- (A)-(II). (B)-(IV). (C)-(I). (D)-(1I)

e T

Options:

68019122653. 1
68019122654. 2
68019122655. 3

68019122656. 4 gcollegedunias

~



Question Number : 14 Question Id : 6801915786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

11 3R FAI-11 &I GAferd Pifeie-
1 -1
TR uﬁa';nl;raﬁ'ﬂ
A |Rads e 1 {70
B. Wiy | I |20
C. [g% U g9 I1I. |30
D. |FhaREL adr |1v. [s0

- feu e fdsed & 9§ el SR I |

. (A)-(I). (B)-(IT). (C)-(II1). (D)-(IV)
- (A)-(IT). (B)-(II). (C)-(IV). (D)-(I)
(A)-(I). (B)-(II). (C)-(IV). (D)-(III)
- (A)-(III). (B)-(IV). (C)~(I). (D)~(II)

fas b2 —

s

Options:

68019122653. 1
68019122654. 2
68019122655. 3
68019122656. 4

Question Number : 15 Question Id : 6801915787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sucrose polyesters act as

. stablizers

. antioxidants

. flavours

. engineered fats

| R

S )

Options :

68019122657. 1
collegedunia:

68019122658. 2
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68019122659. 3
68019122660. 4

Question Number : 15 Question Id : 6801915787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
gepIo iUy & Y H B HId o

1. }EdABR
2. Wdtafiadtee
3. oA

4. SoifATs agr

Options:

68019122657. 1
68019122658. 2
68019122659. 3

68019122660. 4

Question Number : 16 Question Id : 6801915788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Equipment Function
A |Planetary Mixer| 1. |Baking
B. |Oven II. |Dough development
C. |Proofer II1. |Muftin
D. |Griddle cup IV |Fermentation

Choose the correct answer from the options given below:

- (A)-(I). (B)-(II). (C)-(IID). (D)-(IV)

- (A)-(D). (B)-(II). (C)-(II), (D)-IV)
- (A)-(D). (B)-(II). (C)-IV). (D)-(IID) g .
(A)-(ID). (B)-(D). (C)-(IV). (D)-(I) collegedunia:

|

e Tao

~



Options :

68019122661. 1
68019122662. 2
68019122663. 3

68019122664. 4

Question Number : 16 Question Id : 6801915788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GaT-1 & T1Y GET-11 1 Jaferd & ToT-
L -1
USRI ST

A [wiHed R | 1 [§fdT

B. |Hiad I |71 g f1eT Fmio

C. |[q®R I11. [Aft

D. |Frsd @y IV. |t 2gror

4 f3U T fae el & 9 9el SR TH|

L. (A)-(I). (B)-(II). (C)-(IIT). (D)~(IV)
2. (A)-(I). (B)-(III). (C)-(II). (D)-(IV)
3. (A)-(I). (B)-(II). (C)-(IV). (D)-(IIT)
4. (A)-(I). (B)-(I). (C)-(IV). (D)-(I1I)

Options :

68019122661. 1
68019122662. 2
68019122663. 3

68019122664. 4

Question Number : 17 Question Id : 6801915789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 gcollegedunias

~



Sequence for the preparation of sugar from sugarcane juice involves the following
unit operations:

(A). Crystallization

(B). Centrifugation and filtration

(C). Decolourization

(D). Evaporation

Choose the correet answer from the options given below:

L (B). (C). (D). (A)
2. (A). (B). (C). (D)
3. (B). (A), (D). (C)
4.(C). (B). (D). (A)

Options :

68019122665. 1
68019122666. 2
68019122667. 3

68019122668. 4

Question Number : 17 Question Id : 6801915789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & 30 9 IR &3 & ®F | Ffaiad sok Jareq i
(A) fopeediiau

(B) SAHEI AR e

(C) T-GUPHTPH]

(D)

- feu e fasedl O 9 el SR I |

1. (B). (C). (D). (A)
2. (A). (B). (C). (D)
3.(B). (A). (D). (C)
4.(C). (B), (D). (A)

Options :
68019122665. 1
68019122666. 2

68019122667. 3

68019122668. 4 .
collegedunia:
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Question Number : 18 Question Id : 6801915790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s used as enriching agent in wheat flour?

. 0.2% lysine
0/ 1
= /0 iryptophan

3.2% lysine
. 2% tryptophan

b =

e

Options :

68019122669. 1
68019122670. 2
68019122671.3

68019122672. 4

Question Number : 18 Question Id : 6801915790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafeiad 7 ¥ foge Suant 1 & o1 | Jad- geic & &4 ¥ fbgl & &

1.0.2% 7T Eiirl:i
2. 0.2% fePTtA
3.2% ¢ E@:!
4.2%1¢

Options :

68019122669. 1
68019122670. 2
68019122671.3

68019122672. 4

Question Number : 19 Question Id : 6801915791 Question Type : MCO Ontion Shufflina : No Is

Question Mandatory : No Calculator : None Response Time : N.A Thi gcollegedunias

Instruction Time: 0 <



Correct Marks : 4 Wrong Marks : 1

Glycerol mono stearate serves as a/ an in cakes.

1. emulsifier

2. colourant

3. flavouring agent
4. antioxidant

Options :

68019122673. 1
68019122674. 2
68019122675. 3

68019122676. 4

Question Number : 19 Question Id : 6801915791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
R 91 We &% § U FEgH B A gl
1. SHEIHIR
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3. g Tuie
4. Udtefiirae

Options :

68019122673. 1
68019122674. 2
68019122675. 3

68019122676. 4

Question Number : 20 Question Id : 6801915792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The boiling point of 50% sucrose solution 1s C.

1. 90
2. 102
. 110
4. 120

Options :

L]

68019122677. 1
68019122678. 2
68019122679. 3

68019122680. 4

Question Number : 20 Question Id : 6801915792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
50 % YebId faeTa P HYAID S3 Afcmm 5

1.90
2.102
. 110
4. 120

Options :

Tad

68019122677. 1
68019122678. 2
68019122679. 3

68019122680. 4

Question Number : 21 Question Id : 6801915793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Filo pastry is prepared by following sequence-
(A).Baking

(B). Selection and weighing of ingredients

(C). Chilling

(D). Mixing

Choose the correct answer from the options given below:

1. (B). (C). (D). (A)
2. (B). (A). (C). (D)
3.(B). (A). (D). (C)
4. (C). (B), (D), (A)

Options :

68019122681. 1
68019122682. 2
68019122683. 3
68019122684. 4

Question Number : 21 Question Id : 6801915793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

foral O] el e & daR &1 9rdi 8-
(A) ST

(B) 91Ut &1 994 3R g

(C) B3I BT

(D) YT S

- feu e faw el O 9§ 981 S 9|

L. (B). (C). (D). (A)
2. (B). (A). (C). (D)
3.(B). (A). (D). (C)
4.(C). (B). (D). (A)

Options :

68019122681. 1
68019122682. 2
68019122683. 3

68019122684. 4

gcollegedunias

~



Question Number : 22 Question Id : 6801915794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

High sugar waters contain more than ........ % sugar.

o =

Taa
I b2 = =
= Lh O

[

4.
Options:
68019122685. 1
68019122686. 2
68019122687.3
68019122688. 4

Question Number : 22 Question Id : 6801915794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S dHl aBd | % & SHfUD di-1 Bl &

faa bd —

4.
Options :
68019122685. 1
68019122686. 2
68019122687. 3

68019122688. 4

Question Number : 23 Question Id : 6801915795 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time: N.AThi o
Instruction Time: 0 gcollegedunias

~

Correct Marks : 4 Wrong Marks : 1



Mold growth 1n muifins is controlled by the addition of

1. caleium propionate
2. sodium hydroxide

. baking soda

4. baking powder

L]

Options :

68019122689. 1
68019122690. 2
68019122691. 3

68019122692. 4

Question Number : 23 Question Id : 6801915795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

oftp  Hies 9 R & g1 P it 31

Options :

68019122689. 1
68019122690. 2
68019122691. 3
68019122692. 4

Question Number : 24 Question Id : 6801915796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List I with List II

LISTI LISTII
Ingredient Example
Sweetner I. |Starch

Gelling agent | II. |Stevia

Aerating agent | [IL |Egg
Antioxidant IV. |BHA

ofa[w]»

Choose the correct answer from the options given below:

L. (A)-(ID). (B)~(I). (C)-(III). (D)-(IV)
2. (A)-(I). (B)-(IIT). (C)~(II). (D)-(IV)
3. (A)-(I). (B)-(II). (C)-(IV). (D)-(III)
4. (A)-(IID). (B)-(IV). (C)-(I). (D)-(II)

Options :

68019122693. 1
68019122694. 2
68019122695. 3
68019122696. 4

Question Number : 24 Question Id : 6801915796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 9 [ S
i 11
= | ==
A [H@leRR 1 [wrE
B. [Gfemusic | I [&Eifaan
C. [emRfEnude |mL [sfar
D. [Gtaliaige |1V, [&ugu
A feu e fosed B 9 981 S I |

L. (A)-(II). (B)-(I). (C)-(III). (D)-(IV)
2. (A)-(I). (B)-(III). (C)~(II). (D)~(IV)
3. (A)-(I). (B)=(ID). (C)-(IV). (D)-(I1I)

4. (A)-(III). (B)-(IV). (C)-(I). (D)~(1I)
Options : gcollegedunias

~



68019122693. 1
68019122694. 2
68019122695. 3

68019122696. 4

Question Number : 25 Question Id : 6801915797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

.............. test 18 used to check the fermentation of cocoa beans.

1. Cut
2. Flavour
3. Sugar

4. Colour

Options :

68019122697. 1
68019122698. 2
68019122699. 3

68019122700. 4

Question Number : 25 Question Id : 6801915797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

: TRI&70] &1 3UTN Bd] 410 & HH XUl B oiid & 70 fdodl offdl
I

1. ®c

2. TddR

3.4t

4.3
Options :

68019122697. 1
gcollegedunias

68019122698. 2

~



68019122699. 3
68019122700. 4

Question Number : 26 Question Id : 6801915798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Process tlow for the manufacturing of the caramel invelves the following
sequence-

(A). Emulsification

(B). Mixing

(C). Deposition

(D).Caramelization

Choose the correct answer from the options given below:

.(B). (A). (D). (C)
.(A). (B). (C). (D)
.(B). (A). (C). (D)
(0). (B). (D). (A)

|

e Taa

Options :

68019122701. 1
68019122702. 2
68019122703. 3

68019122704. 4

Question Number : 26 Question Id : 6801915798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



HRUT o AT & forg ufdsar warg § FafaRaa e i -
(A) SHSEI BB

(B) M0 &A1

(C) HerTu

(D)

- feu T fosedl § 9§ 95l SR A |

.(B). (A). (D). (C)
- (A). (B). (C). (D)
.(B). (A). (C). (D)
(C). (B). (D). (A)

I =

F N

Options :

68019122701. 1
68019122702. 2
68019122703. 3

68019122704. 4

Question Number : 27 Question Id : 6801915799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Blended chocolate should contain not less than cocoa solids.

. 3%

. 9%

. 15%
4. 18%

Options:

| I

s

68019122705. 1
68019122706. 2
68019122707. 3

68019122708. 4

Question Number : 27 Question Id : 6801915799 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0 gcollegeduniag

Correct Marks : 4 Wrong Marks : 1 "



fofyd Siece | 4 DHH Did] Hileigd ol gl AMgU|

RN IGRIG
.o yfaerd
.15 Ufa=rd
4. 18 Ufa=rd

Options :

faa o —

68019122705. 1
68019122706. 2
68019122707. 3

68019122708. 4

Question Number : 28 Question Id : 6801915800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Deposit cookies contain % of unbleached soft wheat flour.

.8to @
5t 20
.21 to 25
4. <5
Options :

| I

L]

68019122709. 1
68019122710. 2
68019122711. 3

68019122712. 4

Question Number : 28 Question Id : 6801915800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



fSuliore ol o % 3ffeTes HIUe g eI s |

H.

o b2 —
"“'IJ::‘W
(]
A A
]

b d
L

i

-
Options :
68019122709. 1
68019122710. 2
68019122711. 3

68019122712. 4

Question Number : 29 Question Id : 6801915801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Area under the Extensograph Representative dough
curve strength
A |80 I |Medium strong
B. |80-120 1. |Weak
C. |120-200 III. | Very strong
D. =200 IV, | Strong

Choose the correct answer from the options given below:

- (A)-(IT). (B)-(I). (C)-(IV). (D)~(III)
- (A)-(I). (B)-(III). (C)-(I1). (D)-(IV)
- (A)-(I). (B)-(II). (C)-(IV). (B)-(III)
4. (A)-(IIT). (B)-(IV). (C)-(I). (D)-(II)

b

L)

Options :

68019122713. 1
68019122714. 2
68019122715.3

68019122716. 4

gcollegedunias

Question Number : 29 Question Id : 6801915801 Question Type : MC( vpuvii stuninny « 1vw a0



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 1 Y fHaE $ifern

1 11
Qﬂ%ﬁ?ﬁﬁwﬁﬁﬂiﬁﬁﬁﬂﬁﬁfgﬁnﬂﬁu
A I [qem gemg
B. [80-120 1. [HH9R
c. [120-200 I1L. |[§gd Hoigd
D. |= 200 V. [Foted
A feu e fosed B 9 981 S I |

L. (A)-(II). (B)~(I). (C)-(IV). (D)-(III)
2. (A)-(I). (B)-(II). (C)~(II). (D)-(IV)
3. (A)-(I). (B)-(II). (C)~(IV). (B)-(III)
4. (A)-(IID). (B)-(IV). (C)-(I). (D)-(II)

Options:

68019122713. 1
68019122714. 2
68019122715.3

68019122716. 4

Question Number : 30 Question Id : 6801915802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Typical farinograph of wheat flour follows the sequence of-
(A). Arrival time

(B). Peak tume

(C). Mixing tolerance index

(D). Departure time

Choose the correct answer from the options given below:

1. (A). (B). (C). (D)
2. (A). (B). (D). (C)
3.(B). (A). (D). (C)

4.(C). (B). (D). (A) :
collegedunia:

Options :

~



68019122717.1
68019122718. 2
68019122719. 3

68019122720. 4

Question Number : 30 Question Id : 6801915802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TIg & 31C B [AR1Y BIRAUIG (69 3T BT SHTER01 Bl 5-
(A) Ug= P 90T

(B) Ul T1gH

(C) HfeT eleRd So

(D) T &1 1Y

< fu e fosed § 9 98l SR I |

.(A). (B). (C). (D)
_(A). (B). (D). (C)
.(B). (A). (D). (C)
.(C). (B). (D). (A)

fas b2 —

=,

Options:

68019122717. 1
68019122718. 2
68019122719.3

68019122720. 4

Question Number : 31 Question Id : 6801915803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Farinograph analysis. the reference walue for resistance is

.400 BU
.500 BU

. 600 BU
4,700 BU collegedunia:

Options : N

ba =

L]



68019122721.1
68019122722. 2
68019122723. 3

68019122724. 4

Question Number : 31 Question Id : 6801915803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BIRATS faeisur 8 uieRly & forg dev 4o &

fag a —
L [
=
=

4.700 91
Options :
68019122721. 1
68019122722. 2
68019122723. 3

68019122724. 4

Question Number : 32 Question Id : 6801915804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Final viscosity of starch paste increases with an increase in

. Amylose content

. Amylopectin content
. Amylase content

4. Pectin content

|

s

Options :
68019122725. 1
68019122726. 2 gcollegeduniag

68019122727. 3 N



68019122728. 4

Question Number : 32 Question Id : 6801915804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T U o sifay fufure gf& & 91y 95 91 8

1. THISAS Bic
2. Uiefaed dde
3. UHISdY dec

4. Ufdeq e

Options :

68019122725. 1
68019122726. 2
68019122727. 3

68019122728. 4

Question Number : 33 Question Id : 6801915805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Gumminess 18 expressed as

1. Hardness x Cohesiveness
2. Hardness x Springiness

3. Springiness x Cohesiveness
4. Hardness x Resilience

Options :

68019122729. 1
68019122730. 2
68019122731.3
68019122732. 4

gcollegedunias

Question Number : 33 Question Id : 6801915805 Question Type : MC( < pe-c: cricriiiiig o e oo



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

THAY &1 UPR & R od9d a1 ordl &

1. BARAl x GrHo
2. ®ordl x B g
3. (ST x 9o

4. Polkdl x {-tEi"I-‘ilnlﬂdt

Options :

68019122729. 1
68019122730. 2
68019122731. 3

68019122732. 4

Question Number : 34 Question Id : 6801915806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Pectic enzymes include the following groups

(A). Pectin estrase

(B). Polygalacturonase

(C). Pectin lyase

(D). Lactase

Choose the correct answer from the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

| S

a2

Options :

68019122733. 1
68019122734. 2
68019122735. 3

68019122736. 4

gcollegedunias

Question Number : 34 Question Id : 6801915806 Question Type : MC{ vpuun sturiny . 1w 15



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ofdee Tomzdl ¥ Fafafad aag Tnfie g -
(A) Ufde X
(B) C
(C) Yfge= argw
(D)
- f3U T fasedl & O el SR IH|
1. %ad (A), (B) 3R (D)
2.%ad (A). (B) 3R (C)

3.(A). (B). (C) R (D)
4.%ad (B), (C) 3R (D)

Options :

68019122733. 1
68019122734. 2
68019122735. 3

68019122736. 4

Question Number : 35 Question Id : 6801915807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Phenomenon in which a substance occurs in different erystalline forms 1s known
as

. Polymorphism
. Esterification

. Fractionization
. Metamorphism

| R

s

Options:
68019122737. 1
68019122738. 2

68019122739. 3

68019122740. 4 gcollegeduniag

~



Question Number : 35 Question Id : 6801915807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

He-IeH forgs U ugrd fafis foeseda & Ui § 8T 5. & FY
BEECIEIRCIRIE

1. dg&=Udl

2. T RBIgS

3. fagfsd

4, SIAUT
Options :

68019122737. 1
68019122738. 2
68019122739. 3
68019122740. 4

Question Number : 36 Question Id : 6801915808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change 1n lipid leading to an undesirable flavour and odour 1s known
as

. Rancidity

. Enzymatic degredation
3. Gelatinization

. Lipid degradation

o =

e

Options :

68019122741. 1
68019122742. 2
68019122743.3

68019122744. 4

Question Number : 36 Question Id : 6801915808 Question Type : MCl gcollegeduniag

Question Mandatory : No Calculator : None Response Time : N.A Thiun 1nne . v winmmunm



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U G510 TWIe 3R 7Y & 3R o o+ aret fafts § ufvada &t &
Sy agvic fvini 4

Options :

68019122741. 1
68019122742. 2
68019122743. 3

68019122744. 4

Question Number : 37 Question Id : 6801915809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following vitamins are Fat soluble ?
(A)A
(B)B
(C)D
(D) E

.(B) only.

. (A). (B) and (C) only.
. (A). (C) and (D) only
.(B) and (D) only.

| R

e g

Options:

68019122745. 1
68019122746. 2
68019122747.3

68019122748. 4

Question Number : 37 Question Id : 6801915809 Question Type : MCl( gcollegedunias

Question Mandatory : No Calculator : None Response Time : N.A Think 1IME : LA vInmum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafafed o 9 SH-a1 faeritg a9 ¥ ga-=iida 32
(A) T
B) sl
(C) 3!
D)%

1. ®ad (B)

2.%ad (A), (B) 3R (C)
3.9ad (A). (C) 3R (D)
4. %ad (B) AR (D)

Options :

68019122745. 1
68019122746. 2
68019122747. 3
68019122748. 4

Question Number : 38 Question Id : 6801915810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1s the rigidity in plant cells resulting from being filled with water.

1. Cell Turgor
2. Vacuole

3. Denatured cell
4. Cell turbidity

Options :

68019122749. 1
68019122750. 2
68019122751.3

68019122752. 4

Question Number : 38 Question Id : 6801915810 Question Type : MCl( gcollegedunias

Question Mandatory : No Calculator : None Response Time: N.AThi -



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gHT T W1 O & GRS 1Y &1 ST 8§ e RdT &l

Fed ol

1. Jd IR

2. RigasT

3. fdPpd If®T

4. 9q cfdfadt
Options :
68019122749. 1
68019122750. 2
68019122751. 3

68019122752. 4

Question Number : 39 Question Id : 6801915811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Carotenoids are soluble.

1. water

2. fat

3. water and fat
4. alcohol

Options :

68019122753. 1
68019122754. 2
68019122755. 3

68019122756. 4

Question Number : 39 Question Id : 6801915811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
gcollegedunias

Correct Marks : 4 Wrong Marks : 1

~



PRICHISS R GERIGE]
1. Ol
2. a9
3. O 3R a4
4, 3cPled

Options :

68019122753. 1
68019122754. 2
68019122755. 3

68019122756. 4

Question Number : 40 Question Id : 6801915812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tannins in their natural form are mostly

(A). yellow in color

(B). orange in color

(C). colorless

(D). blue 1n color

Choose the correct answer from the options given below:\

. (A) and (B) only.

. (A) only.

. (C) only.

4.(B). (A) and (D) only.

a =

Taa

Options :

68019122757. 1
68019122758. 2
68019122759. 3

68019122760. 4

Question Number : 40 Question Id : 6801915812 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 gcollegeduniag

Correct Marks : 4 Wrong Marks : 1 b



U WP fid =0 H 2 e HEIAE!
(A) UTd 3T

(B) AR T

(OICEIEY]

(D) e &1

e feu v faeedl o 9 gel 3w I

1. %ad (A) 3R (B)

2. %ad (A)

3.%4d (C)

4. %ad (B). (A) 3R (D)

Options:

68019122757. 1
68019122758. 2
68019122759. 3

68019122760. 4

Question Number : 41 Question Id : 6801915813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Brix to acid ratio 1s commonly used to measure of fruits and fruit
juices.

(A). taste

(B). tartness

(C). acidity

(D). sourness

Choose the correct answer from the options given below:

. (C) only.

. (A). (B) and (D) only.
. (A) and (B) only.

4. (B). (C) and (D) only:.

| S

LIF %]

Options :
68019122761. 1
68019122762. 2

68019122763. 3

68019122764. 4 gcollegedunias

~



Question Number : 41 Question Id : 6801915813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fsiarT ¥ RS 3UTd &1 ST SR R Bl R Bl & 39 &
EaRAEC A RIMERIETIGIE]

(A) Wla

(B) di@Tg

(C) ST

(D) TSI

- feu e ool O 9§ 981 S 9|
1. ®ad (C)

2.%ad (A). (B) 3R (D)

3.%dd (A) R (B)

4. %ad (B). (C) 3R (D)

Options :

68019122761. 1
68019122762. 2
68019122763. 3

68019122764. 4

Question Number : 42 Question Id : 6801915814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Non nutritive sweetner used in soft drinks 1s

(A). Acesulfame K

(B). Saccarin

(C). Cane Sugar

(D). Galactose

Choose the correct answer from the options given below:

. (A) and (B) only.

. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (D) only.

Options: .
Pt gcollegedumas

68019122765. 1 =

|

Taa



68019122766. 2
68019122767. 3

68019122768. 4

Question Number : 42 Question Id : 6801915814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTte fEqq & Ui &1 o+ arell TR-UIY s e gl
(A) UREE T &

(B)

(C) T I At

(D)

A= feu e fae el o 9 get 3w )

1. Had(A) AR (B)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)
4.%ad (D)

Options :

68019122765. 1
68019122766. 2
68019122767.3

68019122768. 4

Question Number : 43 Question Id : 6801915815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hops are responsible for the in the beer.

1. sourness
2. bitterness
. SWeetness

4. sparkling
Options : gcollegedunias

~

L]



68019122769. 1
68019122770. 2
68019122771.3

68019122772. 4

Question Number : 43 Question Id : 6801915815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GiRegs] & fore g1 foigR B

1. ggTy-
2. dgdyd
3. fe
4. JH®
Options:

68019122769. 1
68019122770. 2
68019122771. 3
68019122772. 4

Question Number : 44 Question Id : 6801915816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Protein content of all purpose flour is %o.

.Tto 9
B 50115
.85t 9
4,12

Options :

|

L]

68019122773. 1

68019122774.2 ,
collegedunia:

68019122775. 3 S



68019122776. 4

Question Number : 44 Question Id : 6801915816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it SeRg aret 3 © Ui annft & % BIdl gl

7H0
953115

8590
4,12

Options :

fag a3 —

68019122773. 1
68019122774. 2
68019122775. 3

68019122776. 4

Question Number : 45 Question Id : 6801915817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Straight flour 1s

(A). Patent flour

(B). Clear flour

(C). Mixture of all flours

(D). Pastry flour

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2. (C) only.

. (D) and (A) only

4. (A) only.

iz

Options :
68019122777. 1

68019122778. 2 ,
collegedunia:

68019122779. 3 s



68019122780. 4

Question Number : 45 Question Id : 6801915817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Re el @l

(A) U 3fTeT

(B) WP 3{Tel

(C) | 3{1c &1 fago

(D) UK 3HTeT

- fau e fasedl O 9 9ol S I |

1. %ad (A). (B) 3R (C)
2. %Hdd (C)

3.%dd (D) AR (A)

4. Pad (A)

Options :

68019122777. 1
68019122778. 2
68019122779.3

68019122780. 4

Question Number : 46 Question Id : 6801915818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Structural integrity of the starch polymric chamns of wheat flour 18 measured

by .

. Falling Number
. Farinograph

. Extensograph
4. Alveograph

| R

L]

Options :

68019122781. 1 gcollegedunias

68019122782. 2 b



68019122783. 3

68019122784. 4

Question Number : 46 Question Id : 6801915818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T & 3¢ &1 W 950D Gl &1 RIS sl Bl GRI
7T ST

1. BT HaR
2. BIRAITS
3. URCHIUTS
4. Ufed3iaTH

Options:

68019122781. 1
68019122782. 2
68019122783. 3

68019122784. 4

Question Number : 47 Question Id : 6801915819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Types of proteins present in cereals are-
(A). Albumin

(B). Globulins

(C). Prolamines

(D). Glutelins

Choose the correcr answer from the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options : .
collegedunia:
68019122785. 1

~

|

Laa



68019122786. 2
68019122787. 3

68019122788. 4

Question Number : 47 Question Id : 6801915819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS H HIS[E Ui & PR & -
(A) T

(B)

(C) Ulafir=g

(D)

A= feu v fas el o 9 get 3w I

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (O)
3. (A). (B). (C) 3R (D)

4.%ad (B), (C) 3R (D)

Options :

68019122785. 1
68019122786. 2
68019122787.3

68019122788. 4

Question Number : 48 Question Id : 6801915820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The group of vitamins present in all cereal grains are

1. Vitamin B
2. Vitamin C
 Vitamuin A

4. Vitamin E
Options : gcollegedunias

~

L]



68019122789. 1
68019122790. 2
68019122791. 3

68019122792. 4

Question Number : 48 Question Id : 6801915820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

uff oM F Hieg Attt &1 aug g

1. faeria &t
2. fqeftm
3. faerfiA
4. faerA s

Options :

68019122789. 1
68019122790. 2
68019122791. 3

68019122792. 4

Question Number : 49 Question Id : 6801915821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the general processing steps of pulses

(A). Soaking and Germination

(B). Cooking

(C). Decortication

(D). Fermentation

Choose the correct answer from the options given below:

1. (A). (B). (C). (D)
2. (A), (D), (C). (B)

. (A). (C). (B). (D)
(©).®). ). (&) M llecedunia

Options : N

e o



68019122793. 1
68019122794. 2
68019122795. 3

68019122796. 4

Question Number : 49 Question Id : 6801915821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

STl & FIHT UEHRU1 TR BT SHPH 6-
(A) FERTHT 3R SigRur

(B) UBHI

(C) TR

(D) BT 0T

< feu e fosedl § 9 98l S I |

.(A). (B). (C). (D)
_(A). (D). (C). (B)
(A). (C). (B). (D)
.(C). (B). (D). (A)

fas b2 —

=,

Options:

68019122793. 1
68019122794. 2
68019122795. 3

68019122796. 4

Question Number : 50 Question Id : 6801915822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inflammation of udder of bovine cattle is known as

1. Foot and Mouth Disease
2. Lumpy Cow Disease

3. Mastitis
4. Mad Cow Disease collegeduniag
Options: N



68019122797. 1
68019122798. 2
68019122799. 3

68019122800. 4

Question Number : 50 Question Id : 6801915822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

qare U & U DI Yol Bl & =9 F ofH1 Sdl g |
1. OR 3R 4§ &1 I

2. T T T
3. Afefeg
4. TTTS T8 I

Options:

68019122797. 1
68019122798. 2
68019122799. 3
68019122800. 4

Question Number : 51 Question Id : 6801915823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List I with List II

LISTI LISTII
Component/Process Related enzyme
A |Fat globule membrane| I. |Lactoperoxidase
B. |Antimicrobial system | II. |Lipase
C. |Pasteurization III. |Lactase
D. |[Milk sugar IV |Alkaline Phosphatase

Choose the correct answer from the options given below:

1. (A)-(D). (B)~(II). (C)-(III). (D)-(IV)
2. (A)-(I), (B)-(II1). (C)~(II). (D)-(IV)
3. (A)-(I). (B)-(I). (C)-(IV). (D)-(I1I)
4. (A)-(II). (B)-(IV), (C)-(I). (D)-(1I)

Pt T

Options :

68019122801. 1
68019122802. 2
68019122803. 3
68019122804. 4

Question Number : 51 Question Id : 6801915823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

11 SR -1 P GARTd PIoTT-

a1 e faredtl| 1 [SeeiiEiey
ORI Ui | 1 [agus

BIEREE e 11 [Tides
GU-DHY IV. |Scmargd Biehed

A feu e fosed B 9 981 S I |

ola[w]»

L (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
2. (A)-(I). (B)-(III). (C)~(II). (D)~(IV)
3. (A)-(II). (B)~(I). (C)-(IV). (D)-(I1I)

4. (A)-(III). (B)-(IV). (C)-(I). (D)~(1I)
Options : gcollegedunias

~



68019122801. 1
68019122802. 2
68019122803. 3

68019122804. 4

Question Number : 52 Question Id : 6801915824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Align the key steps involved in the manufacture of the condensed milk -
(A). Preheating and addition of sugar

(B).Standardization

(C). Packaging and storage

(D).Condensation followed by crystallization

Choose the correct answer from the options given below:

1. (A). (C). (B). (D)
2. (A). (B). (C). (D)
.(B). (A). (D), (C)
(C). (B). (D). (A)

e g

Options :

68019122805. 1
68019122806. 2
68019122807. 3

68019122808. 4

Question Number : 52 Question Id : 6801915824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



THi-d g & 101§ e ueE =Rl B HRREd -
(A) TES TH HAT 3R A1 B ST

(D) SU- & 915 fohLcal[hul
i feu v faeedl o 9 gel 3w I

_(A). (C). (B). (D)
- (A). (B). (C). (D)
.(B). (A). (D). (C)
(C). (B). (D). (A)

|

F N

Options :

68019122805. 1
68019122806. 2
68019122807. 3

68019122808. 4

Question Number : 53 Question Id : 6801915825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s the most potent carcinogen in many species including birds. fish and
rodents.

. Patulin
. Ochratoxin

. Aflatoxin B4
4, Zearalenone

J =

L]

Options :

68019122809. 1
68019122810. 2
68019122811. 3

68019122812. 4

Question Number : 53 Question Id : 6801915825 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Thi .
collegedunia:
Instruction Time : 0 s



Correct Marks : 4 Wrong Marks : 1

gferdl, gaferdl iR $i igd B yariadl § Ja Kieael

BRSO g

1' QI I

2. HihreTiee

3. TTTClieg ol

4. ToTERICA
Options :
68019122809. 1
68019122810. 2
68019122811. 3

68019122812. 4

Question Number : 54 Question Id : 6801915826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Nature of toxin Target organ
A_ [Mutagenic 1 [DNA
B. |Teratogenic II. |Kidney
C. |Nephrotoxic I11. |Skin
D. |Neurotoxic IV. |CNS

Choose the correct answer from the options given below:

1. (A)-(I). (B)-(II). (C)-(III). (D)~(IV)
2. (A)-(I). (B)-(III). (C)~(II). (D)-(IV)
- (A)-(IV). (B)~(III). (C)-(II). (D)-(I)
- (A)-(II). (B)-(IV). (C)-(I). (D)-(1I)

e Tao

Options :

68019122813. 1
68019122814. 2
68019122815. 3

68019122816. 4 gcollegedunias

~



Question Number : 54 Question Id : 6801915826 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 3R G-I DI FAfT BifoTg-

a1 11
ERIESRHCEIREIT 3T
A |EeEe 1 [Suae
B. e 1. |fest
C. [Fmeicas I11. |&n
D. [RRIEF® v |diequy
-9 feu U fd@enl O 9 9ol S I |

fasd B2 —

=

Options :

68019122813. 1
68019122814. 2
68019122815. 3

68019122816. 4

- (A)-(D). (B)-(II). (C)-(IID). (D)-(IV)
- (A)-(I). (B)-(III). (C)-(ID). (D)-(IV)
- (A)-(IV). (B)~(III). (C)-(II). (D)-(I)
- (A)-(II). (B)-(IV). (C)-(I). (D)-(1I)

Question Number : 55 Question Id : 6801915827 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The has become the reference for International Food Safety

Requirements.

1. ICMSF
2. FAD

. WHO
4. CAC

Options:

L]

68019122817. 1

gcollegedunias

~



68019122818. 2
68019122819. 3

68019122820. 4

Question Number : 55 Question Id : 6801915827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRRIPTY WTe] YR&T SHTa=aedisi & g G5 a4 T g

1. S HITHTETS
2. UBU3

3. Segu 3l

4, g

Options:

68019122817. 1
68019122818. 2
68019122819. 3

68019122820. 4

Question Number : 56 Question Id : 6801915828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

test 18 used for haemolysis testing of Listeria monocytogenes.

. CAMP

CAP

. MAP
4. AMES

Options:

|

L]

68019122821. 1
68019122822. 2

68019122823. 3 :
collegedunia:

68019122824. 4 =



Question Number : 56 Question Id : 6801915828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fereefar HiH1gIgcloi-F & sIAfared Ui gq TRi&r foa

AT g |

1. giuggd]
2. giudi
3. THUdl
4. TUARTY

Options :

68019122821. 1
68019122822. 2
68019122823. 3
68019122824. 4

Question Number : 57 Question Id : 6801915829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
VACCP system stands for

1. Virtual Critical Control Point

2. Validation Critical Control Point

. Vulnerability Critical Control Point
4. Vertfication Critical Control Point

Taa

Options:

68019122825. 1
68019122826. 2
68019122827.3
68019122828. 4

Question Number : 57 Question Id : 6801915829 Question Type : MC( @collegedumas



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ot} gomel &1 i T

1. TY3T febfepe dela wige
2. AfeTS T fopfema Foia wee

3. G Rdd fohfedha hela Wigc

4. AT fbfcdd deid Wige

Options :

68019122825. 1
68019122826. 2
68019122827. 3
68019122828. 4

Question Number : 58 Question Id : 6801915830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

15 defined as an act or threat of deliberate contamination of food for
human consumption with the intension of causing injury or death to civilian
population and/or disrupting social. economic or political stability.

1. Food risk

2. Bioterrorism
3. Food fraud

4. Food terrorism

Options :

68019122829. 1
68019122830. 2
68019122831.3

68019122832. 4

Question Number : 58 Question Id : 6801915830 Question Type : MC 7~ =%~ 7l 88— - e - -
Question Mandatory : No Calculator : None Response Time : N.A Thi gcollegeduniag

~

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

&1 MRS 3METE! ®I 9le U1 G SR/ GrHTfors, Mfdfes a1
ST FRRR P aMiYd B & 2304 § H1-d JUUFT & iU YieH &
SFEHR YT & B 91 X b &0 § G faar man g

1. Wlef-Edr]

2. 9Id ATdParg

3. GTe vardf H grarest

4, @Y ATdhdlg
Options :

68019122829. 1
68019122830. 2
68019122831. 3
68019122832. 4

Question Number : 59 Question Id : 6801915831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Procedures. that address operational conditions providing the foundation for the
HACCP system are known as

1. PRPs
2. 550Ps
3. SOPs
4. COP

Options :

68019122833. 1
68019122834. 2
68019122835. 3

68019122836. 4

Question Number : 59 Question Id : 6801915831 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0 .
collegedunia:

Correct Marks : 4 Wrong Marks : 1 -



TIUHET qurel & fofu SneR UeH &3 drell g Rfaal &1 galfed
B areit Uicharafi ot FEIHIAT A B

1. UraRdis

2. Uy
3. TgaUle

4. Grafidt

Options :

68019122833. 1
68019122834. 2
68019122835. 3

68019122836. 4

Question Number : 60 Question Id : 6801915832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The food that 1s customarily consumed without cooking by the customer is known
as

. Balance food

. Ready-To- Eat food

. Ready-To-Serve food
. Ready-To-Cook

L R

Options:

68019122837. 1
68019122838. 2
68019122839. 3

68019122840. 4

Question Number : 60 Question Id : 6801915832 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegedunias

~

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Ed GRI [T IS0 IRUR® &1 I a4 {6 9 arat Hied & &
0§ 1 S g

1. Hferd e

2. M & A0 GUR HisH

3. IRIYH & o0 daR YisiH

4. 9% & fau daR

Options :

68019122837. 1
68019122838. 2
68019122839. 3

68019122840. 4

Question Number : 61 Question Id : 6801915833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The temperature, time, and pressure combination of autoclaving at laboratory scale
18

. 101°C. 15 to 20 minutes and 15 psi
. 121°C. 15 to 20 minutes and 15 psi
. 121°C, 5 to 10 minutes and 10 ps1

4. 120°C, 15 to 20 minutes and 12 ps1

faa b2 —

Options:

68019122841. 1
68019122842. 2
68019122843.3
68019122844. 4

Question Number : 61 Question Id : 6801915833 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegedunias

~

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TRTLIE & TG U2 HTeaifa &1 draHT. 969 3R gard &1
HaioH gidT g |

.101°C. 15 ¥ 20 fiFe 3R 15 dugang
.121°C. 15 ¥ 20 fiFe 3R 15 diugang
-121°C. 5 9 10 fiFe 3R 10 Hiugamg

4.120°C. 15 9 20 fie 3R 12 diugang

Options :

o b2 —

68019122841. 1
68019122842. 2
68019122843. 3

68019122844. 4

Question Number : 62 Question Id : 6801915834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Water activity Related microorganisms
A 086 I |S. qureus i
B. |0.94 II. |No microbial growth
C. |0.68 I |C. botulinum
D. |Less than 0.60 | IV, |Limnat for fungi

Choose the correct answer from the options given below:

L. (A)-(I). (B)-(II). (C)-(I1I). (D)~(IV)
2. (A)-(I). (B)-(III). (C)~(II). (D)-(IV)
- (A)-(I). (B)-(II). (C)-(IV). (D)~(III)
. (A)-(I). (B)-(IV). (C)-(I). (D)~(1I)

e o

Options:

68019122845. 1
68019122846. 2
68019122847.3

68019122848. 4

gcollegedunias

~



Question Number : 62 Question Id : 6801915834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GAt-1 3R FEI-11 guiad Sifor-

11 ¥l I

EERIGICIE Hefid gereia
A |oge 1 |79 sivgg
B (094 I |l Yersid g sl
C. |0.68 1L | & qiefcq
D lo60¥®HH |1V [Brs &I gla S 4
- feu Y fdeedl & 9 el SR 9|

1. (A)-(I). (B)-(II). (C)-(III). (D)-(IV)

2. (A)~(I). (B)~(III). (C)~(II). (D)-(IV)

3. (A)-(I). (B)-(II). (C)-(IV). (D)~(III)

4. (A)-(III). (B)-(IV). (C)-(I). (D)-(II)
Options:

68019122845. 1
68019122846. 2
68019122847. 3
68019122848. 4

Question Number : 63 Question Id : 6801915835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

18 a cheap and energy efficient method of preservation of perishable
raw materials.

. Fermentation

. Decomposition
3. Putrefaction

4. Proteolysis

I =

Options :

68019122849. 1 gcollegedunias

~

68019122850. 2



68019122851. 3
68019122852. 4

Question Number : 63 Question Id : 6801915835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
[T aTdl S AT & TR&UT B U Tl 3R Foll SR Al
gl
1. HH g
3Oy

4. T SHIaTg Ry

Options:

68019122849. 1
68019122850. 2
68019122851. 3

68019122852. 4

Question Number : 64 Question Id : 6801915836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

are antimicrobial polypetides or proteins which are heat stable at acidic
pH.

1. Proteases

2. Antibiotics

. Bacteriocins
. Synbiotics

e Laa

Options :
68019122853. 1
68019122854. 2

68019122855. 3 gcollegeduniag

~



68019122856. 4

Question Number : 64 Question Id : 6801915836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Glciituerss a1 UicH sid & ol SRy Uied 4R a1g 2R

d el

1. Ureiuaial

2. UEiieay

s ARt

4. Famifeay
Options :
68019122853. 1
68019122854. 2
68019122855. 3

68019122856. 4

Question Number : 65 Question Id : 6801915837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
LAB Bacteriocin
A |Bifidobacterium longum [. |Acidocin
B. |Lactococcus lactis subsp. lactis| II. |Lacticin
C. |Lactobacillus acidophilis IT1. |Lantibiotics
D. |Lactobacillus lactis IV, |Nisin

Choose the correct answer from the options given below:

L. (A)-(I). (B)-(II). (C)-(III). (D)~(IV)
2. (A)-(I). (B)-(III). (C)~(II). (D)-(IV)

- (A)-(I). (B)-(IT). (C)-(IV). (D)~(I1I)
- (A)-(IID). (B)-(IV). (C)~(I). (D)~(II) collegedunia:

~

e T

Options :



68019122857. 1
68019122858. 2
68019122859. 3

68019122860. 4

Question Number : 65 Question Id : 6801915837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Yl-1 & 1Y Yai-11 BT AT PIfoTu-
-ﬁ;ﬁ_l 11
LG
A |EfBalediiad dimm I |[efg=ifEA
B. |taci@iad tideyd gawy digcd| 1. [dfdefm
C. |cieetafieg gfistieag 111 [aifeamifeas
D. | cigeldfdey dfded v (A
A= feu e faeedl o 9 get 3w I

L. (A)-(I). (B)~(II). (C)-(I1I). (D)~(IV)
2. (A)-(I). (B)-(III). (C)~(II). (D)-(IV)
. (A)-(I). (B)-(IT). (C)-(IV). (D)~(III)
4. (A)-(ITI). (B)-(IV). (C)-(1). (D)-(II)

L]

Options :

68019122857. 1
68019122858. 2
68019122859. 3

68019122860. 4

Question Number : 66 Question Id : 6801915838 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegedunias

~

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Fermentation of vegetables and fruits 1s performed to
(A). Preserve for a long time period

(B). Develop characterstic sensory properties

(C). Reduce digestibility

(D). Enhance dietary value

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019122861. 1
68019122862. 2
68019122863. 3
68019122864. 4

Question Number : 66 Question Id : 6801915838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tfeordl SiR Tl &1 HH XUl [T S1dl 6-
(A) T JHY T &0 8
(B) IS Gael o7 BT fawr B
(C) UT= &\ dl ©H &3 8
(D) S8R Hed §gH £
- fau e o el O 9§ 981 SR I |
1. %ad (A), (B) 3R (D)
2.%ad (A). (B) 3R (C)
3.(A). (B). (C) R (D)
4.%ad (B), (C) 3R (D)

Options :
68019122861. 1
68019122862. 2

68019122863. 3

68019122864. 4
gcollegedunias

~



Question Number : 67 Question Id : 6801915839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

method involves the complete removal of the air from the package
tollowed by sealing of package.

. Vacuum Packaging
. CAP

. MAP

4. Active Packaging

faa b2 —

Options :

68019122865. 1
68019122866. 2
68019122867. 3
68019122868. 4

Question Number : 67 Question Id : 6801915839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafd & Uore 9 ga1 &1 IX1 ae | G SR 39D a1 Udhol &l did
BT A B |
1. fFatd e e
2. i
3. gt
4. [igpy Yo

Options :

68019122865. 1
68019122866. 2
68019122867. 3

68019122868. 4

Question Number : 68 Question Id : 6801915840 Question Type : MC gcollegeduniag

Question Mandatory : No Calculator : None Response Time : N.A Thiun 1nne . v winmmunm



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i3 a gas which is bacteriostatic at low concentration (8ug per ml) but
bactericidal at high concentration (40pg per ml).

1. CO,

2. €0

3. H,0,

4. N,
Options :
68019122869. 1
68019122870. 2
68019122871. 3

68019122872. 4

Question Number : 68 Question Id : 6801915840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 1199 § o ®H Fisdl (Spg Ui FHeieiey) | saRaRec® ©
difdh 3o Higdl (40pg Wi fHefciieR) TR SaER® 5

1.CO,
2.CO
3.H,0,
4.N,

Options:

68019122869. 1
68019122870. 2
68019122871.3

68019122872. 4

Question Number : 69 Question Id : 6801915841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Thi
collegedunia:

Instruction Time: 0

~



Correct Marks : 4 Wrong Marks : 1

The steps involved in the Grape wine manufacturing process are
(A). Fermentation

(B). Malolactic fermentation

(C). Preparation of juice

(D). Packaging. storage and aging

Choose the correcr answer from the options given below:

Q). (B). (A). (D)
(A). (B). (C). (D)
_(B). (A). (D). (C)
(Q). (A). (B). (D)

|

e g

Options :

68019122873. 1
68019122874. 2
68019122875. 3

68019122876. 4

Question Number : 69 Question Id : 6801915841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U9 g1g4 FAato-ufear § wnfid wRurg -
(A) BTl

(B) alcifded HH ex

(C) O Bl TR}

(D) U o, HsRuT 3iR ufsin

A= feu v faw el o 9 get 3w I

1.(C).(B). (A). (D)
2. (A). (B). (C). (D)
.(B). (A). (D). (C)
4.(C). (A). (B). (D)

L]

Options :
68019122873. 1
68019122874. 2

68019122875. 3

68019122876. 4 gcollegedunias

~



Question Number : 70 Question Id : 6801915842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The basic steps involved in the preparation of Kumiss are -
(A). Pasteurization followed by cooling

(B). Homogenization of selected milk type

(C). Agitation of coagulum. packing and storage

(D). Addition of starter culture, incubation. then cooling
Choose the correct answer from the options given below:

1. (A). (C). (B). (D)
2. (A). (B). (C). (D)
.(B). (A). (D). (C)
4. (C). (B). (D). (A)

Taa

Options:

68019122877. 1
68019122878. 2
68019122879. 3

68019122880. 4

Question Number : 70 Question Id : 6801915842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S §9H & gHTE] TROTE -

(A) UIERISSINH & |1 Yiidad

(B) FOd U UPR DI FOEUDHU]

(C) q;iﬂrmi-l &1 aia. UfdT ug vsror

(D) TR FedR Pl SIaHL. HHEH, B idad
- fau e fased O 9 el SR I |

.(A). (C). (B). (D)
_(A). (B). (C). (D)
.(B). (A). (D). (C)
4. (C). (B). (D). (A)

| I S

L]

Options :

68019122877. 1 :
gcollegedumas

68019122878. 2 =



68019122879. 3

68019122880. 4

Question Number : 71 Question Id : 6801915843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The order of steps inovlved in the process of beer manufacture are -
(A).Malting

(B). Addition of Hops and Boiling

(C). Mashing and Wort Preparation

(D). Fermentation

Choose the correct answer from the options given below:

1. (A). (B). (C). (D)
2. (A). (C). (B). (D)
.(B). (A). (D). (C)
4.(C). (B). (D). (A)

L]

Options:

68019122881. 1
68019122882. 2
68019122883.3

68019122884. 4

Question Number : 71 Question Id : 6801915843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&R i &1 ufesar & 9=l &1 %4 ©-
(A) HifeeT

(B) IS I STAAT 3R HYAEH

(C) BT 3R 3¢ &t JaRt

(D) TH 0T

- fau e fasedl O 9§ el SR 3|

1. (A). (B). (C). (D)

2. (A). (C). (B). (D) g i
(B} (&), (D). (©) collegedunia:

(C), (B), (D), (A)

~

e Lo



Options :

68019122881. 1
68019122882. 2
68019122883. 3

68019122884. 4

Question Number : 72 Question Id : 6801915844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sauerkraut 1s a good source of

1. Vitamin A
2. Vitamin B
3. Vitamin C
4. Vitamin D

Options :

68019122885. 1
68019122886. 2
68019122887. 3

68019122888. 4

Question Number : 72 Question Id : 6801915844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qradid BT BT AT B

1. faeifi=
2. faerfa &t
3. fgerfa <
4. faefim 3

Options :

68019122885. 1 ,
collegedunia:

68019122886. 2 ~



68019122887. 3
68019122888. 4

Question Number : 73 Question Id : 6801915845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Classes of enzymes predominately used in food processing are-
(A). Hydrolyses

(B). [somerases

(C). Lipases

(D). Oxido-reductases

Choose the correct answer from the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

I =

L]

Options:

68019122889. 1
68019122890. 2
68019122891.3

68019122892. 4

Question Number : 73 Question Id : 6801915845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



GTe] YER0 § 43 4 ¥ SUhRT [t S aTal UsigH| & aif o
INEEFINIEEE

(B)

(C) s UulSl

(D) Al TSl-Reaeue

e feu U fawedl o 9 gel 3w I

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %ad (B), (C) 3R (D)

Options:

68019122889. 1
68019122890. 2
68019122891. 3
68019122892. 4

Question Number : 74 Question Id : 6801915846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTIT
Food Outlet Sub Classification
A |Restaurants I |5chool meal program
B. |Food Store II. |Roadside eateries
C. |Institutional feeding| II. |Fast food chains
D. |Leisure feeding IV. |Food retail shops

Choose the correct answer from the options given below:

L. (A)-(I). (B)-(II). (C)-(I1I). (D)~(IV)
2. (A)-(I). (B)-(III). (C)~(II). (D)-(IV)
- (A)-(I). (B)-(IT). (C)-(IV). (D)~(III)
. (A)-(I). (B)-(IV). (C)-(I). (D)-(1I)

e faa

Options :
68019122893. 1

68019122894. 2 gcollegeduniag

68019122895. 3 N



68019122896. 4

Question Number : 74 Question Id : 6801915846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI & 1Y G-I 1 gaferd Pifo-
B | -IT
o ...
A [TERe I [&p-HieH ®s
B. [ ®R 1L |[Ts® a1 Hisrag
C. [CRFd BIfET |1 [BRe TS 9=
D. [HRMEE BifeT | v, [@re verf &1 ge goH

Fafeiad [deedl & 9 9el 3u &1 99+ S ;

(A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(A)-(I). (B)-(III). (C)-(II). (D)-(IV)
(A)~(I). (B)-(II). (C)~(IV). (D)-(I1T)
A(A)-(II). (B)-(IV). (C)-(I). (D)-(II)

faa a3 —

=

Options :

68019122893. 1
68019122894. 2
68019122895. 3

68019122896. 4

Question Number : 75 Question Id : 6801915847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The two main criteria for evaluating the sucess of product launch are profits and

1. consumer reaction
2. decrease in market share

3. sales volume g I duni
4, tactics colliegedunias

~

Options :



68019122897. 1
68019122898. 2
68019122899. 3

68019122900. 4

Question Number : 75 Question Id : 6801915847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Jd1g Al ﬁﬂuﬁ;m &1 el B o (oL & T TS a1y AR
|

 IqHIadra] & Hidichar
. G9R {6 ER! § HHl
ACEAGAREIE]

4. TOHIT

Options:

fag a —

68019122897. 1
68019122898. 2
68019122899. 3

68019122900. 4

gcollegedunias

~



